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20 questions
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Total time for Bookizis A and B- 1 hour 45 minutes
Bo not opan the bookie! unti you are told to do o,

Read and follow all instructions carefuily,
Answer all questions.




Section A{ 20 x 2 marks )

For each of the following quastions, four optinns are siven, Shoosa the norrect
answer and shade the corraect oval {1, 2, 2 oy 1 the Qphcal Answer Shaet

provided.
1 in 3412, tha digtt _ s in the hundreds. piane.
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2 7036 - 81T = | 7
VWhat is the missing numbet in the box 7
(1 86128
2y 6219
3) ©B22
(4y 6229
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Whatls the missing numerator?
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(1) 903y

(2) 2003
(3) 9030y
{4 9 300q
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Ths figure hetow has ___ rght angles.,

)
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Ay 3
@y 44

Caward spont & weeks and 3 days at @ camp. How many dayes Jid he
spend ating camn?

P g
L) P
(2) 2
£3) 35

g’-i_} 34

Mr, Tan hag 208 caps in his shop. 143 of them ars bide in colour and the

rest are yeilow. How many fewer veliow caps than biue caps dees be

hiava?

1y 88
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The capeeily of 3 fank is 6 Hitres. 10 identical pails of omster are naeded o
Wiy fhe i Ak compistely. What is the capaoily of each pail?
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Shah collecied 60 stars, He colir~r~fmi 4 trmes as many efars as Vincen!
Find the differance in the number of stz thay colaclad

(1) 15
(Zy 30
{3} 45
(4) 75

58 r2

8 ) 7

A

What s the missing number in the box?

(Y 470 '
(2) 472 :

(3) 474

(1) 488

Collin baked some cakes; He placed 2 cherrios and 6 strawt m?Tie‘ S on-
each cake. If ha vsed 18 rherries alfoge . how inany strawberries dic
he use altogether?

Jane had-$.30:8he spent$:17:15.0n a.dress - and § 8
much money had she ii‘ﬁ“ ’ "

L‘

Con atay. How

o

1 $305
(2) ' $3.95
@) $4.05
(4) 1285
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13 Asguars has a petimeter of 32 om. Find its area.

P nm‘r\ = 32 ¢y

¢y Ramt
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ay took 2 1 10 min in clean un her room.
= ted cleaning up at 11.50 e.m.
At vhat e did sha finish cleanina up'”

(v 150w
(<} L80nm,
{2y Z.00un

(4} 200 vom

15 Arope wss cubinto 7equal pleces, Bach plecarwas 188 am-iong: What is
t“xr‘ original iength ¢ W the rope’?’
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16 Mary sotd 2 3650 concert lickets. She Q(ml 408 concert dokets fewer than
Sean, How many concert tickets did hotlhy of them sel) altogether?
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17 Mark had sore bookmarks, He lost 10 ocokmarks and gave sway ihe
remaining bookmarks equally 1o his 4 frends. if each of His fricnds
Mark rave zif firse?

~

>
bl

recaived 11 bookmarks, how many bookmaris did

-
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18 Complete the pattern.
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Ssction B {20 % 2 marks )

Wors

21
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N

J
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vt the following sums and write your answers in tha boxes pravided,

Write down the greatest 4-digit odd numier that can be formed with
3) 01 4)

H 1
) !
i !
; )
What is the value of § thousands + 21 aundreds « 7 enes?
H ey
g H
s !
How many twenty-cent coins can | exchange for 8257
| |
? %
Pole Ais 1 m 93 cm fonn whife Pale B i3 23 om shoiter,
How long is Pole B ?

e B e e

3z ATmb—-tiyml= ¢ m
é
! / mi

Arrange.the fractionsin ordei, beginning with'the smaiest.

j :
2 3 3 3 !
_ . = { i
, ¥ . 3 § o~ 9 ~ i
7 i 3 8 f . . :
~| e & L R S K P 1

Which is the smallest fraction?
1 4 A { D
-~ v 1
N S H !
~ | O . L ‘
23 1R 0 : 3
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agraph balow shows the marks obtained by & boys for a.
ox eveunation. Study the bar graph carefully and answer
3, 29 ang 30,

28 Alaxgeorsd marks more than Nick.
i 3
28 Aaron scored twiveas many marksds
i ) i
L —

Fa N 4 Y g I
20 aored marks aitogeths:
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31 Cornpisie the sumber patter,
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33

34

AU

A super-bus ¢an carry 78 adults and 39 chiklrer How many more
-~
/

aduits than children can 10 such supe.-LusSs camy™

: |
~e s = : i
S '
Study the angles balow carefully
A | % |
et ] i - ,'
7/ {i B g o -~ . %
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I ¢ ! G !
i 1 f i
JEPRUV S I i
Which of these angles are bigger than a ngst angi2?
{ ] _I/
! |
1}
L. . !
A whoele number has two digits, The ficst digit is 2 tines mora than thae
- second digit, The sum of the digits is 10, What 15 the rumber?
i
§ é
L ]
One kilogram of fish costs $4. Ona kilogram of meat costs §2.50 moere
than one Kilogram of fish. Mes Lim bought 2 kilograms of meat. How
much did she pay for the mezat?
e T
3 :
I
Mrs Yee paid $ 1.50 for 3 pens. She baught a beok which cos te: ! .?: as
much as tpen. How much d js,.e pay altogethe! for the ook @
3 pens?
P %
é— i

5.3 Sub-total §



X7 Swva spet 2 650 min completing his Mathematics worksheel, He spent
45 min lfess o complete dis Science worksheet than he dia for
Azthermatins worksheet, How long Jdid he take to complate his Sclence
wohshesy ?
2 -y
i %
N S mm
a8 Which hlack is the hoaviest?

A
!

48 The figureiseade up of 2.similar rectangies. Find the shadea area.

H8AJ B-4 Sub-fotal:
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40 Study the following numboesr pattam,

o

Row 1

Row 2 P2 2

Row 3 2 4 2

Row 4 2 o) 3 2

Row 5 2oR 78 2
! 1

What is the missing numbear ?

M 8-5 Sub+toral {



\Work out in

ey b e .
Mmarks are g
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(a;

(b

ne followirg sums carefully. Show each siep ot
75\/«? v forwerking avd relevant statemeants.

Hrenda was at the tbrary 3t 11,10 am.
“h@: i2f the library at 12.30 o.m.
Fow {on J was she at the IISr’ ey

I\"rc Kamnvi takes 50 minutes to bake a cake.
Inng will it take her

|of}
1
L]

¥

k s

VO WOTK

to hake X hulier cakes?
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1

ng clearly a3
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Miss Tay brouqh 73 *"-“«ev o; mars r-ral]a'vvs ©
marsnmaliows in ea h Dac he gave & packals

(a) How many packets of marshmaiiows Jdid Miss

(B) . How Mmahy marskaiiows had she lsf

Sarah has 550 starnps.
Leon has 118 stamps miore than Sarah,
Michae! has 220 sLafnp' fewer than L»‘
How many starps must Leon give i

\,n

have 100 starnps fawer than Sarah?

Foa
O B s R

- - £ - ~ ~ [
choo! Trhaere weare 3
3
;

Tay have it

ha el sothat Michasi wolld onhy

Sub-toial {




A4 Abetweighe thrae fimas as much o3 Bryant Bryant weizhs twite as murh
as Caieb. i they waigh 225 kg altegethar, whatis Biyant's :LM?

45 Cur A has 380 m of syrup,
' (G 2‘:‘} i of syrup.
nas 80U mt of syrun, . '
Fhe syras i Cup A, B and & were pourad inte Jug 2.1 200 md of syr up
pverflowed fw \f‘*n jug. what is- ti‘m’ pactty of Jug D whan s half fulty
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81 ¢ 14
92. 2 1702
C3. 3 12, {3)
CJd. 2 14, 4
05. 4 15. 2
CB. 4 16, 4
07. 1 17. 3
08, 3 18, 3
04a. 3 19, (7)
10, (3 D, (et
71) 4301
22) 7107
23) 123
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